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1 (c) A circle passes through the points (7, 2) and (7, 10). The line x=—1 is a tangent to
the circle. Find the equation of the circle.
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1 (c) The y-axis is a tangent to the circle x” + y* +2gx+2 fy+¢c=0.
(i) Provethat f?=c.

(ii) Find the equations of the circles that pass through the points (=3. 6) and (-6. 3)
and have the y-axis as a tangent.

E8) 4+ 6* + 2563 v20)+c30

@ —éﬁ +12f +c= 4§
() () # 250+ 2 £ 6 Jrczo
@ =124+ 6f +c= -4%

= 126 =24 <2 =70
r-GaT+( o) = Jg* _,Zf,* bf re>-u5

e

—ldf-c=4%

> 4¢

r-[FFec -7 @ 15 ves
> 1_ IBF +f>+55 =2
+F c:f €=’3’_(5

O £



January 2012

The Circle
Find equation of -l'av\g,ew(-']
leen Equation of circle and tangent point
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Given: Equation of circle and tangent point
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